
AEO31−2N

Ostw data rgb*, XYZxy, and L*ABChAB in L*ABJND-colour space

Tristimulus values of black and white: YNn=12,4, YWn=39,7, YZa=18.
L*ABChAB data

rgb*d L*d Ad Bd CAB,dhAB,d

Rd 1 0 0 55 16 11 19 34
Yd 1 1 0 65 0 22 22 92
Gd 0 1 0 61 −27 14 30 152
Cd 0 1 1 60 −16 −11 19 214
Bd 0 0 1 48 0 −22 22 272
Md 1 0 1 53 27 −14 30 332
Nd 0 0 0 41 0 0 0 0
Wd 1 1 1 69 0 0 0 0

A = 250 [X / XD65 − Y / YD65 ] [1b]
B = 100 [Y / YD65 − Z / ZD65 ] [2b]

CAB = [ A
2
 + B

2
 ] 

0,5 [3b]

hAB = atan [ B / A ] [4b]
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